1
3

— o
T+
RoR
3_43_2
l_lll

[
[a]
x
— e TR
| oo




2.

ohe Ao AT W x o AT AP 2 AL

@+ 92 @ (x-
@ (

® (3x+1)?

® (Bx+5)(2x-7)

® (Bx+5)(2x-7)

= 6x%2 —21x+ 10x - 35
=6x2-11x-35

oA x o] A7t 7HE 2 AL Ol




3. x+3y=2x+ydd, 2—x94 2
y

D1 @ 2 ® 3

@)4

x+3y=2x+y, x=2y
L 2x 4y
Sy Y




3x—4y=1
2x+ 5y =16
A7) 9istel WAG AL

ﬂ%%@ﬂ{

DO Ox5-Ox4 @®x5+©x4
® Ox2-Ox3 @ Ox3+0Ox2
® Ox24+0Ox3

y o ALE 4, 5 9] HATH|49) 20 07 WHEo]l O x5+ O x4
St y 71 A"




@ x=1,y=6

@ x=2 y=-12

=12

®x=-2,y

®x=-1,y=6

&8

Ydsto] x =

3x+2y = 300 o

y = 6x5

3x+ 2y =30
y = 6x

|

o}

2t

2, y=1287¢




1 —_

2369 36

FeAa57t B2 W Bl 2 T 5 T 9lofof SHER 36 = 49
1 9 7} §lef A oF gt

2#m2 9 2] vl 27 o] #4491 2% olojof T,




3
O A
T

A5 FoIA a9l GO AFT AL BE Fofo] gobel 1 3
SRRy

@® 21 @ 23 ® 25 @ 27 (3)29

B ~

3

g o] A7t HWA 1 < a < 100]0]oF SIEZ o=
a
8

1, 2, 3, 4, 5, 6, 8°|th,
w2tA] o] £520] F FH2 290|tt,




@D 0.09 =0.1
. 61
@ 0.123 = 195

ok

42 (o = A0
@22x3><5><7‘_—'_ Aol
@ 11.356356356 - -- = 11.356

® 0.629 o] <=ghmtr]= 29 o]},

42 1
® 2%x3x5X7 2x5

242 e o]




a2 . a\2 Qb__x_201 1.0 9
9. 3x%y = (2xy%) X(S) =1y A W, a+ b 2 FE2Y
@ 2 ©Y ® 6 @ 8 ® 10

B

(F4]) = -3x2y + 4x2y%* x ii]b
— _3lb. 41, 2-24b 12t
2
T 1y
— 41312yt
Ll1-b=-1
b=2
1-2a+b=1-2a+2=-1
a=?2
La+b=4




10, 4x-y=3< o, A 4x? +2xy-1 S x° &

Sk Ao 2 YERhH
ax® + bx+c 2 ek o|w, a + b + ¢ 9] FH2?

@9 @ 8 ® 7 @ @)

B

dx-y=3Sy2 Aot y=4x-3

o] A& 4x? + 2xy — 1 o YA

4x% +2x(4x - 3) -1 =4x* +8x* - 6x - 1
=12x% - 6x-1

La=12, b=-6, c=-1

“a+b+c=5




11, (=1) + (=1)% + (=1)3 4 -+ - + (=1)2009 4 (=1)2010 9] 209

D -2009 @ -1 (@)o
@ 1 ® 2010

B

(1) = —L (-1 = L,(-1)* = =L (=) = 1.+ (-1)** =
-1, (_1)2010 -1

1)+(_1)2+(_1)3+,,,+(_1)2009+(_1)2010
I+ D)+ 1+ 4+ (-1+ 1)+ (-1+1)

(-
0




12.

AT 2x+ay—-6=00°] (0, 2), (=3, b), (¢, —2) E = 7H
i, &4 a, b, ¢ A Fa+b+c o #§2?

® 9 @ 11 ® 12 @13 ® 15

(0, 2) & 2x+ay-6=0° NASHH 2a-6 =0, A a =3,
(-3, b) E2x+3y-6 =0 HYSIH 3b - 12 = 0, T=HA]
b=4,
(e, =2) E2x+3y-6=0c°] HYstH 2c - 12 = 0, THeHA]
c=6




il

HE-

= -2

5x + ¢y

9
y=7 Ao, a+b+c o W27

— N

I
=
—_
N
3
o —~
o I
w2
E S
o
y
= A
o =
Sy

@ 3 ® 2 @)1 @0

@® 5

Bl

——

1jo

o

oy

‘W

I

%

mo ©
bR

o

oF ___ R
o o I
T oI 5T
o|J _a +
MW — T o -

N
I

Q

©

I EHa=1, b=2

S

—4-.

3
=b
2

S —a -

= Y

al

iS¢

o]

2 a9
La+b+c=14+2-2=1

Q% ©




32x
34x + 3x

2
@5 @

14. 9" =4 o] & stH?

©)

®
N | Ot

(G20 \)
| =

| ©

&8

9x — (32)x — 32x _ 4

wrEbA] 3 = 20]41, 3% = (39)% = 24 = 16|t}
) 32x . 4 i _g
T34 3x T 1642 18 9




15.

. dx+5y ax-by -bxtay 1

L PR

s

P4

[e3

ty A te=-2y=

o 21 @2 @3 -
o qlole -8+5 —-2a-b 2b+a
o1 Aol (-2, 1) & s =0 = T2 - 2Ry

%;Qb—?—a 1

=z
I
1
2
{_§ _ —2a-b

4 12 +2
6:2a+b
-9=2b+a+6

2a+b=6 @

a+2b:_15 ...@
D-@x2=E35HH -3b=36
...b:_129a:9
sa+b=-3




